[ Efficiency vs vertpos |

= 0.05

T SRR S—— S—

@ : : :

SO0 o Al W W e

o : : :

f1X0lclc|ERTRRTTPETE SUPROPRRRS RS N AR

L2 : : :

ESR0 N k| EREREREPEP FEPPPRPRPRPS FAERS AR R AARERRRLREEE
0,028+ L S
0.02f - - S A1 O S
0.015F--
0.0%--

0.005E -
o O
T I
o N
1

0.95
1072

107 1

10 0?
TP vertr (cr%)

Efficiend

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

N 0.2

$0.18F-
2] n
>0.16F -
>
2 Fo
$0.14F
£0.12F-
q) -
0.1
0.08F--
0.06fF -
0.04F -
0.02F-

.........

.........

.........

...................................

................................

................................

1.0

Ratio

i
T

-10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 05

= : : : : :

A A A
R S R SR
£0.35F oo

Sim

o
w
T

efficiency

o
[\S]
I
&

0.15F------heno-

0.1

............

0.25F -+ ckeeee

...................................

...................................

...................................

Ratio

0.0 -+++++heso-

T
4

%55

0 5 10
Sim. PV z (cm)




	Contents
	Page 1


